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(4) All the objections should be submitted through ONLINE OBJECTION SUBMISSION SYSTEM only. Physical or
submission through any other means will not be considered.

(5) All objections are to be submitted with reference to the Master Question Paper published with provisional answer key,
published herewith on the website / online objection submission system. Objections should be sent referring to the

Question No. & options of the Master Question Paper. Objections regarding question nos. and options other than
rovisional answer key (Master Question Paper) shall not be considered.
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1.  Who inaugurated the ‘National Salt Satyagraha Memorial’ at Dandi?
(A) Pandit Jawaharlal Nehru
.Narendra Modi
(C) Kantilal Harilal Gandhi

(D) Kalyanji Mehta

2. Name the famous Gujarati novelist who was also a Member of Constituent Assembly.
(A) Manubhai Pancholi

.Kanhaiyalal Munshi

(C) Jhaverchand Meghani

(D) Pannalal Patel

3.  Who was the first Gujarati woman to receive Magsaysay Award?
@&)11aben Bhatt
(B) Kasturba Gandhi
(C) Maniben Patel

(D) Bhikhaiji Kama

4.  Consider the following statements about Gujarat Vidyapeeth.
1. It was established by Mahatma Gandhi
2. It was first set up in Sabarmati Ashram
3. Gandhiji and Prof. A. T. Gidwani were the first Chancellor and Vice-Chancellor
4. Gandhiji and Mahadev Desai were the first Chancellor and Vice-Chancellor
Which of the above statements are correct?
(A) None of the above
(B) Only 1 and 4

.Only 1and3
(D) Only 1 and 2
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5.  Consider the following statements about the arrival of Europeans in India.
1. A Gujarati Kanji Malam helped Vasco Da Gama to find route to India
2. The British were the first to come to India and the last to leave India
3. The French first established headquarters in Surat
4. The British first came to Surat
Which of the above statements are correct?
(A) Only 2 and 3 (B) Only 2 and 4

(C) Only 1 and 3 @) Only 1 and 4

6.  Consider the following statements about Gujarat. -
1. Jivraj Mehta led the Maha Gujarat movement to separate Gujarat from Mumbai state
2. The capital of Gujarat moved from Ahmedabad to Gandhinagar in 1971.
3. U. N. Dhebar was the first Chief Minister of Saurashtra state

4. Narendra Modi is the only Chief Minister of Gujarat to be sworn in three times as Chief

Minister
Which of the above statements are correct?
(A) Only 1 and 4
(B) Only 2 and 3
(C)Only 1 and 3

(D) Only 3 and 4

7.  Which of the following places are located on the bank of Indus river?
.Mohenj o Daro and Amri
(B) Harappa and Amri
(C) Harappa and Kalibangan

(D) Mohenjo Daro and Kalibangan
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10.

11.

[BKE]

Which of the following Mahajanpads are situated beyond the present boundaries of India?
1. Anga 2. Matsya

3. Kamboj 4. Gandhara

Select the correct option from below

(A) Only 1 and 2

(B) Only 1 and 4

(C)Only 2 and 3

@) Only 3 and 4

Which of the following rulers has NOT supported Buddhism?

.Chandragupta Maurya (B) Ashok

(C) Bindusar (D) Kanishka

As per the Girnar edict, who among the following has first constructed the Sudarshan
lake?

(A) Pushyamitra

.Chandragupta Maurya

(C) Bindusar

(D) Ashok

The chairperson of which of the following parliamentary committee is invariably from
the members of the ruling party?

.Estimates Committee

(B) Public Accounts Committee

(C) Committee on Public Undertakings

(D) None of the above

PT.O.] | 7
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13.

14.
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12.

13.

14.

Who among the following shall cause every recommendations of the Finance Commaission

to be tabled before each House of Parliament?

(A) The Prime Minister of India

(B) The Finance Minister of India

(C) The Speaker of Lok Sabha and Chairperson of Rajya Sabha

.The President of India

Consider the pair of different features of the constitutional reform during the British
period:

1. Government of India Act, 1858 — Replacement of company rule by Crown rule
2. Government of India Act, 1935 — Provincial autonomy

3. Government of India Act, 1935 — Diarchy at the Centre

4. Government of India Act, 1935 — Diarchy at the provinces

Which of the above pairs are correct?

@)only 1,2 and 3 (B) Only 2, 3 and 4

(C)Only 1,3 and 4 D)1,2,3 and 4

A new all India service can be created by

(A) A resolution of the Union Public Service Commission
(B) An order of the President

(C) An order of the Prime Minister

.An Act of Parliament
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15.

16.

17.

18.

No demand for grant is to be made except on the recommendation of
(A) Prime Minister

(B) Union Finance Minister

(C) Comptroller and Auditor General

.The President of India

Consider the following statements about the Money Bill:
1. Rajya Sabha can reject a Money Bill

2. Rajya Sabha can amend a Money Bill

Which of the above statement(s) is/are correct?

(A) only 1 (B) only 2

(C) Both 1 and 2 ®)Neither 1 nor 2

Consider the following statements regarding the Indian Constitution:

1. No High Court has the power to declare any Act of Parliament unconstitutional.
2.The Supreme Court of India has power to declare any Act of Parliament unconstitutional.
Which of the above statement(s) is/are correct?

(A) only 1 B)only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements about the Vice-Chairperson of Niti Aayog:
1. He is appointed by the Prime Minister

2. He can attend the Cabinet meeting as a special invitee

Which of the above statement(s) is/are correct?

(A) only 1 (B) only 2

.Both 1and?2 (D) Neither 1 nor 2
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19.

20.

21.

22,

Which of the following is the largest committee of Parliament?
.Estimates Committee

(B) Public Accounts Committee

(C) Committee on Public Undertakings

(D) Ethics Committee

Which of the following states of India also touch maritime border along with international
border?

1. Rajasthan 2. Gujarat

3. Mizoram 4. West Bengal
Select the correct option from the following.

(A) 1,2 and 4 only (B) 1, 3 and 4 only

(C) 1 and 3 only (D)2 and 4 only

Consider the following statements:

1. The length of India from north to south is more in comparison to that from east to west.
2. 82°30' East longitude is considered as the Standard Time line of India.

Which of the above statement(s) is/are correct?

(A) 1 only (B) 2 only

(©)Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:

1. After separating from the Gondwana plate, the Indian Plate started floating towards
the south.

2. The development of the Himalaya mountain took place due to the impingement between

the Indian Plate and the Eurasian Plate.
Which of the above statement(s) is/are correct?

(A) 1 only .2 only
(C) Both 1 and 2 (D) Neither 1 nor 2
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23.

24,

25.

Where is the monsoon climate mainly found in Asia?

1. In South Asia

2. In West Asia

3. In South-East Asia

Select the correct option from the following.

(A) only 1 (B) only 1 and 2

(©)only 1 and 3 (D) 1,2 and 3

Which of the following special biospheres have received recognition by UNESCO at global

level?
1. Nandadevi 2. Nilgiri
3. Sundervan 4. The Gulf of Mannar

Select the correct option from the following.

(A)only 1,2 and 3 (B) only 1, 3 and 4
(C) only 2 and 3 ®)1,2,3 and 4
Which of the following national parks are associated with the Tiger Conservation
Program? -

1. Bandhavgarh National Park

2. Dachigam National Park

3. Sariska National Park

4. Manas National Park

Select the correct option from the following.

(A)only 1,2 and 3 (B) only 2, 3 and 4

(C)only 1 and 4 (D)1,2,3and 4
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27.

28.
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26.

27.

28.

Consider the following statements about the first ever Offshore Wind Farm project of

India.
1. It is coming up in the Gujarat state

2. The project is supported by the Ministry of New and Renewable Energy and National
Institute Of Wind Energy

Which of the above statement/statements is/are correct?

(A)Only 1 (B) Only 2

©)Both 1 & 2 (D) Neither 1 nor 2

Following trade liberalization policies as part of economic reforms, there have been

changes in the composition of India’s exports. Consider the following statements in this

regard.

1. Share of agriculture and allied products in total exports has increased in the

post-reform period

2. There has been a decline in the share of manufactured goods in aggregate exports
since 1991

3. Export of petroleum products has increased so much so that now it occupies the second

place in India's export earnings
Which of the above statement/statements is/are correct?
(A) Only 1 (B) Only 2
©)only 3 (D) 1,2 and 3
Consider the following statements with regard to the recent trend in Index of Industrial
Production (IIP) in India.

1. The IIP attained a growth of (-) 1.9 per cent in November 2020 as compared to
2.1 per cent in November 2019

2. The cumulative growth of IIP for the period April-November 2020 was (-) 15.5 per cent

as compared to 0.3 per cent in April-November 2019
Which of the above statement/statements is/are correct?
(A) Only 1 (B) Only 2
©)Both 1 & 2 (D) Neither 1 nor 2
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29.

30.

31.
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29.

30.

31.

Which of the following is NOT an objective of the Public Sector Enterprises in India?
(A) Capital Formation

(B) Development of Infrastructure

(C) Removal of Regional Disparities

.Control of Population Explosion

Consider the following statements.:

1. A completely laissez faire economy has now become a relic of history

2. India and the most advanced capitalist countries now regulate economic activity

3. The need for state intervention in the capitalist economies arises from the market failure
Choose the correct answer from below:

(A)Only1 &3 B)Only2 &3

(C) Only 1 &2 ®)1,2 and 3

Which of the following statements are correct for Gold Hydrogen?

(1) It accumulates naturally under the ground, in pockets or reservoirs similar to oil and

natural gas.
(2) It shows golden hue while burning.
(3) Gold is used as a catalyst for production of Gold Hydrogen.
(4) It involves using subsurface microbial activity to enhance hydrogen production.
Choose the correct answer from below:
(A) 1 and 2 only (B) 1 and 3 only

(C) 2 and 4 only .1 and 4 only
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32.

33.

34.

o1 Usloll sl [Quiell WAl B2

(1) AAot 2k AARFAUL RAA B, Al A yeclla sllbisrs WKl (Uv) (Ba0lel
8L W 8.

(2) USL2R2ANAL Yy Blsoll Slell sRcAselHl A 8, w2l YAusiaell Guallal sila
slolot slallsuless ol WRlle] o510 wal WEASAHL UL Al B.

(3) Wellotl AQYBall Molc slESL%et sitlel LMl s12Q Y& UR(le{l HeH Eolcll 4°C UR
sl B,

@) el 920 ot Ueldl scll sl ay 3suell Yuisdl 53 B, s12Q ¥ scllell sQ dy
Ysdud [QdRd aa B, @ Aol 35Ul YR {3l 2l B.

1A U4l 2o [@Ascu udie $A
(A) HIAL 1 ua 3
Bt 2 ua 3
(C) HIAL 2 Al 4

(D) {2 1 el 4

"sts N2 A o{lA USle] 52f [Quutet ALY B?

(A) stb N2 Alul % usiaa GlFd 52 ® wa WAllAd 52 B, ® da JMRsd AU a3
el asta Ag olelld .

(B) st§ N2 AHleA s WA otololl A BGar-uldBa 52 B, ua dell J2cclisyl UAUA 6Ll
Aoj BajHlel LMl w1 B.

.O;lél'lsd.l $A acl-Gololl w2aMigl AR eU% B2l weUMl SLE Neell wmLdel Ul 8.

(D) stf e AyPud vlelet, oyglet A AL clald] 8.

et Bl Yol ol Astimiell s 51 vlolloge(l s[Betclioll AA 51 BD?
.zmam < RIS < JESAUR < scAER
(B) HWH < BRUE: < scAERH < FESRUR
(C) 3CUT2 < YWH < FESUR < 5AER

(D) 3CUE2 < YLIUH < 5 < FESFUR
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32.

33.

34.

Which of the following statements are correct?

(1) The ozone layer is located in the mesosphere, where it protects Earth from harmful

ultraviolet (UV) radiation.

(2) Photosynthesis primarily occurs in the chloroplasts of plant cells, using sunlight to

convert carbon dioxide and water into glucose and oxygen.

(3) Pure water has its maximum density at 4°C due to the unique hydrogen bonding

properties of water molecules.

(4) Sound waves travel faster in air than in solids because air particles are more freely

distributed, allowing quicker transmission of energy.
Choose the correct answer from below:
(A) 1 and 3 only .2 and 3 only

(C) 2 and 4 only (D) 1 and 4 only

Which of the following statements is correct about dark matter?

(A) Dark matter directly emits and reflects light, making it detectable with optical

telescopes.

(B) Dark matter interacts weakly with ordinary matter and is inferred through its

gravitational effects.

.Dark matter comprises approximately 95% of the universe's total mass-energy

content.
(D) Dark matter is composed entirely of protons, neutrons and electrons.
Which of the following is the correct order of hardness of minerals according to the
Mohs Scale?
.Gypsum < Calcite < Feldspar < Quartz
(B) Gypsum < Calcite < Quartz < Feldspar
(C) Calcite < Gypsum < Feldspar < Quartz

(D) Calcite < Gypsum < Quartz < Feldspar
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35.  ualaRglla Axa{l2llell (1A e2ldet A€l Aol o2 s WA 1S\

yalazglla  |e@st

AogoR{lull

() UNEP (@) d@s ¥ UdRHL ¥t Yost[Aullotl 2810 12 B sl

(i) IUCN (b) AldRA2A UsAdLe] UsAet 53l d@s ualaelal Hula uatscl

(i) WMO (c) Giodl dUaell dollecll ARl d@s wcllect yauell U 2uldw
A (WSt

(iv) WWF d) dstls wa {A-3uuBd yaul st walcagla RAA YR et
3R 5q

o1 Ugl Ao [@Aseu ude s

.(i)-(b), (ii)-(a), (iii)-(c), (iv)-(d)

(B) (i)-(a), (ii)-(b), (iii)-(c), (iv)-(d)

(C) ()-(b), (i)-(a), (iii)-(d), (iv)-(c)

(D) (i)-(a), (ii)-(b), (iii)-(d), (iv)-(c)

36. "Yol sodoflol ol U Al g W A" 60 2024 UL oissl sAAA sl A" ARG v

QAL 9 ® 2

(A) Al wn{HIHL A st ¥R HlHIFl g U BuwRw Avial U2 dRs AdlaisH
Welld slaell 2t

(B) [AsRct AR gl UidRRAMA w¥noll GUADL sell HEA Yselellotl Udll 5 (ol Ulclaus

alQusla ugldell 21

(C) 2025 YLllHL dAHIM USIRalL BLSL U soll BIRLSIH UR AYRIUS Uldeit Ysall HIZ SLAZUR

A sitatsdl sAR.

.2030 YellHi, 30% AidAFl2 wella w1l Ady, eRue A(ad (@Qeciedl 2&uuetl.
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36.

[BKE]

Match the following lists of Environmental Agencies and their appropriate Roles:

Environmental Agencies |Roles

(i) UNEP (a) Advocating for the protection of endangered species globally

(i) IUCN (b) Reducing global environmental threats by coordinating
international cooperation

(iii) WMO (c) Monitoring and reporting on the global climate system
including long-term climate trends

(iv) WWF (d) Focusing on environmental sustainability through scientific
and policy-based efforts

Choose the correct answer from below:

.(i)-(b), (i)-(a), (iii)~(c), (iv)-(d)

(B) (0)-(a), (ii)-(b), (iii)-(c), (iv)-(d)

(©) (i)-(b), (ii)-(a), (iii)-(d), (iv)-(c)

(D) (i)-(a), (ii)-(b), (iii)-(d), (iv)-(c)

What was a key feature of the High Seas Treaty finalized in 2024 under the UN Convention
on the Law of the Sea?

(A) Creation of a global maritime police force to monitor illegal fishing activities in

international waters.

(B) Introduction of a financial mechanism requiring developed nations to pay a levy for

using international waters.
(C) A legally binding agreement to completely ban all forms of deep-sea mining by 2025.

.Establishment of marine protected areas covering 30% of international waters

by 2030.
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37.

38.

39.

5O gff&Htll (Al) ML clBdRell [@Qstaot Aeelnl o(lAetl [Quuell taua A

(1) %eRRcl Al HIsc BH ¥ OpenAl ol GPT-4 el Googleell Gemini A 252, BAY Aal

AN Aldcoll sglAu ualdullal doset sl 12 BBgeat seunl wLcl B.

(2) As¥ 51RY 3 eldloll Qaun Mscd MR selGs A UR [@eldl (Aot Alut o Wouse

GusWN UR 32l UR Bl sclle] Al olollce] B,

(3) 2024 HI UAR UAc EU Al ARRAH, Al ol dllAs GUAL W2 YHIRA HOY] tetlalal
UR kLol Slodcl 5 B, Aol AMl UQL Wit s3la G Slunctoll ACAS AL

(4) "Yot:ul-AclEld osotalol” UQAUEHT AUl Wl YOIl dulRall M2 ollgl 3213
A eldltett Qaun Qs A3 8.

GuR Ugl saui Qutell AU ® 2
(A) HIA 2 Ua 3 (B) HIA 2, 3 Ul 4

.Hl?l 1, 3 A 4 (D) HIAL 1 A 4

"LiFi" 2sollcl9oll &dq 9 B2

.usm dR90ell GuAoL 53 sl8-Uls cAlARAYU 51Y[AAotal UGH Sl U2

(B) AHlal (ArcAHL Bo22A2 sAlR(AZ artal w2

(€) A glsacl AosuMi ewcd(ldl vatsal 12

(D) cioll BidRe{l gUUR YA&d sal W2

2024 Mi sclleeH $1RJRoHl o{lAsuMi 58 sl iUt scUMl Bl 8, B A wABLs
AhAZUcUAl s el ecdl?

(A) ARSloll dAlUHLA S Al 325-5€0ll URHIEN Hcd soeH 5122

(B) Ui viSlMl 3cldd yaun cudvIRs sdlead 51»J2R A2ab

.1,782-qubit YUR5s(539L sl WAURCA (A5l

(D) d@s otausla caucsl 12 sclleeH (Brelouglell uRu
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37.

38.

39.

Which of the following statements are correct with reference to recent developments in

Artificial Intelligence (AI)?

(1) Generative AI models like OpenAl's GPT-4 and Google’s Gemini are designed to

handle multiple modalities including text, images and audio.

(2) Edge computing has made it possible for large language models to process data directly

on mobile devices without reliance on cloud servers.

(3) The EU AI Act, passed in 2024, focuses on creating a standardized framework for the

ethical use of Al, particularly in high-risk applications.

(4) Retrieval-augmented generation combines large language models with external

databases to enhance accuracy and relevance in responses.
Choose correct answer from below:
(A) 2 & 3 only (B) 2,3 & 4 only

©)1,3 & 4 only (D) 1 & 4 only

What is the purpose of "LiFi'" technology?

.To enable high-speed wireless communication using light waves

(B) To enhance internet connectivity in rural areas

(C) To reduce interference in radio frequency bands

(D) To secure long-range telecommunications

Which of the following breakthroughs in quantum computing was achieved in 2024,
bringing it closer to practical applications?

(A) A quantum computer operating at room temperature and desk-sized dimensions

(B) The first commercial quantum computer network spanning five continents
.Development of a 1,782-qubit superconducting quantum processor

(D) Introduction of quantum cryptography for global financial transactions
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40. el AR UUA ettt cll Wl GUABLAla el M2 2024 Hi AML ol ActiHiell 56 YQul
9 scllHl el sdl?

(A) GPS-3UURd AL gLl Acg-A (AN 2Lt

(B) duRlasdl-lAQre st w2 oA s wrells:wal

(€) &us-wil 8l Nt Rer WA ASls0L

.eqdat A DL 2l el A SRl 53 Aes-WE sclloll &Ml

41, ol Aull Ayl QA ol Astl [Quiell taulal AL
1. A 2Rl ay HIR RBUeSI| Alowell
2. Al Alwell U2 dygd Ae@s waldl DAL 12 W B
3. Ul Aol U2 AYrdH Yol GHR uRWell YHA 21 X B
4. 3l Aol 360 RASUeSI| Yed L [AAMlojuR sHlalet UA Aol 2l 289
GuR Ul sl [Quiell Al B2
(A) $5c 1 Wal 2
(B) $5cl 2 Ul 3
.SSd 1 Ua 4
(D) 1, 2, 3 Vol 4 GlUl %
42. dRdla Rxd Aes(RBIell WAl WAl sBE(MPC)ell BAMRHL HAA AssHl AcuHl
Aldel [@AeD ourtd ol Aetl [Quteall tua AL
1. U 22 el vl
2. dikclds »SIU(GDP) gl uouglui uatsl sl
3. 32l Road a0l walsl saul
4. Ral W 2eul ualsl sl
GuR Ul sl @Quiell WAl 8?2
.ssd1,2ua3 (B) $5cl 1, 3 Aol 4

(C) $5d 2, 3 Ual 4 (D) 1, 2, 3 Vol 4 GLlUL %
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40.

41.

42.

Which of the following features was introduced in Tesla Optimus in 2024 to enhance its
autonomy and usability?

(A) Self-navigation through GPS-based mapping

(B) Biometric authentication for user-specific tasks

(C) Integration with third-party home automation systems

.Ability to self-charge by locating and connecting to charging stations independently

Consider the following statements about “Bima Sakhi Yojana”:

1. It is a stipendiary scheme for three years

2. The minimum educational eligibility for this scheme is 12th pass

3. The minimum age limit for this scheme is 21 years at the time of application

4. Under this scheme, the agency will continue with commission as per the rules after the

stipendiary period
Which of the above statements are correct?
(A) 1 and 2 only (B) 2 and 3 only
(©)1 and 4 only (D) 1,2,3 and 4
Consider the following statements about the decisions taken in the December meeting of
the Monetary Policy Committee (MPC) of the Reserve Bank of India (RBI):
1. Repo rate maintained
2. Real GDP growth forecast reduced
3. Cash reserve ratio reduced
4. Reverse repo rate reduced
Which of the above statements are correct?
.1, 2 and 3 only (B) 1, 3 and 4 only

(C) 2,3 and 4 only (D)1,2,3and 4
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43.

44.

45.

46.

ABARHL A% USSR gLl (lAell UGl 58 oRUUASIRARA RYARUA SIURAAHT FRccllell

(el sl 82

1. Yo%eldIR 2. alitlleunt

3. adl 4. sl

ol Aottuiell Ao @seu ue s,

(A) $5cL 1, 2 Ual 3 (B) $5cl 2, 3 Ual 4

(C) §5cl 1, 2 U 4 @)1, 2, 3 A 4 wrL ¥

AlBARHL Bo2Ralold WA WA(ISS) HIZ2 Alcdellkl AXIOM-4 (R2et M2 eURdell 32cl

wa st uReo(l sl audl 82

(A) 1 .2

(C)3 (D) 4

ABARHL (Aot UGl sl 2aoll AR A AR sLEJULR UA sAER(A] WBse wtold

(Buella us0oL 23 wAl s2cl 1R etRdell Yeusid clell sdl?

(A) Yolleses (Satsu (B) Ja&
.@Lalcrl (D) ALSAeS
PM e-Qall DTH Aod 31 ol daldls ¥3Rada uslAl anal HZ ABdRHL

A3 scllMl wldl B.

(A) AUE UL (QrAURML 2AE BUBHALOURA

(B) Yd ellRclell AUl Al Sl sl
.qéet Qausllx, QAN @Qasl U geulaui

(D) Yd @llRcloll AAHL wAd WARsEs Areud

28 [BKE] [Contd.


Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight


43.

44.

45.

46.

Which of the following municipalities has recently been decided by the state government

to be converted into municipal corporations?

1. Surendranagar 2. Gandhidham

3. Vapi 4. Navsari

Select the correct option from the following.

(A) 1,2 and 3 only (B) 2, 3 and 4 only
(C) 1,2 and 4 only ®))1,2,3 and 4

How many astronauts from India have been selected for the upcoming AXIOM-4 mission

to the International Space Station (ISS) recently?

A1 @)

O3 (D) 4

The King and Queen of which of the following countries recently visited India to discuss
bilateral cooperation in hydropower and connectivity projects?

(A) United Kingdom (B) Brunei

(©)Bhutan (D) Thailand

PM e-Vidya DTH channel-31 has been launched recently to cater to the educational needs

of

(A) Ashram schools in tribal areas
(B) Engineering colleges in eastern Indian states
.Hearing-impaired students, special teachers and interpreters

(D) Polytechnic institutes in eastern Indian states
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47.

48.

49.

50.

51.

52.

53.

(1ol Ul sl 2 AR ARML el ollsle (ol MH-60R H&ls 3AS\2R HI A tldol Altol
ALl YR wsal 1R 1.17 @lAaet el Aeloll uydl 53l 82

(A) sl .uﬂ[‘est
(©) @ (D) el
WA yAuR ysd ollwcll oot ay Yellui As 52As AR WUt (Solar Installations)

SlUA sRclle] ced U 8,
(A) 2025 (B) 2026

.2027 (D) 2028

ol Aot Ul sl A%AUL 186 MVall Hecelsiell Tato-l LSS 8AsIs WBse (HEP)o{l 2&UlUsil
sclML wLa?

(A) 982Ul (B) HERIR

(C) sulles .ugquuc»t ygal

YaRS(UNESCO) sl AlBdRHl oflAett USl sal A%UA Ayl 3R udest @
(Top Heritage Tourism Destination) dl313 Mlelcll AUl wicll B2

(A) %Al (B) AUt

.u@u oldaum (D) ¥2m
ol A uyEls Usl el 1A uyelis s20 82

(A) 99/100 (B) 499/500

(C) 999/1000 .9999/10000

ol WA AvAHI Aol usl vl 0.

(A) 9 (B) 25

.16 (D) 4

o(lA galdct FuARUHIYUL 58 vl 11 a3 ewdll asla 82
.21318 (B) 23118

(C) 21138 (D) 28113
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47.

48.

49.

50.

51.

52.

53.

Which of the following countries has recently signed a $1.17 billion deal to provide
advanced equipment for the Indian Navy's MH-60R Seahawk helicopters?

(A) France .America
(C) Russia (D) Germany

PM Surya Ghar Mufat Bijli Yojana aims to achieve one crore solar installations by the

year
(A) 2025 (B) 2026
(©)2027 (D) 2028

In which of the following state will the ambitious 186 MV Tato-1 Hydroelectric
Project (HEP) be set up?

(A) Gujarat (B) Maharashtra

(C) Karnataka .Arunachal Pradesh

Which of the following state has been recently recognized as a Top Heritage Tourism
Destination by UNESCO?

(A) Gujarat (B) Rajasthan

.West Bengal (D) Kerala

Find the largest fraction from the following:
(A) 99/100

(B) 499/500

(C) 999/1000

(©))9999/10000

Find the odd one out:

(A9 (B) 25
©)16 (D) 4
Which of the following numbers is divisible by 11?

@&)21318 (B) 23118
(C) 21138 (D) 28113
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54.

55.

56.

57.

58.

59.

60.

As AlssA 251 w6 A olHRll A B, Aol 6 AR Ul 32 UHA AdL?

(A) 32 oy (B) 16 oy

.24 ay (D) 12 a4y

As B 51 2AQL ay HE UEL RUP AscAHL A BD. %l Al W/BH A 251 QLA RUXER
AscallHl A, dl e U2 Z. 60/~ U[ES UL A, ASLRL 5A U 58 822 -
(A) Z 6000/- (B) ¥ 3000/-

(C) T 9000/- (D) T 12000/-

80 (3ol clst sonmiell 32 (Bou Yool oal B, 80 (39Ul Yool sletlaiall HIZ2 32l il sl
A eful?

(A) 160 (3o () 100 (3o

.200 ERT (D) 120 (U

%l As We23Usl 80 Bl ul scusell wou 60 BHl wld scusell aldR A, A 500 FxleAl
Yalld 5l 32l AU[s uHA cdld?

(A) 2 SCUS (B) 2 sclts 10 Bl
(C) 2 scls 15 M2 .2 scls 5 MAke

o(lA WA AvARAHY s vl w(Aeus B2

(A) 209 (B) 403

(C) 901 .887

QL ol A WA U%A WA 1¥A BH 5cll UefsN 25% ol 35% AUl 8. WL Aol
oA WA ¥ 8Holl 9l 2t

(A)7:9 (B)5:7
.25 . 27 (D) 27 : 29

A5 olyollHl R’¥A YUYl Avaul €2 AR wugl s 8. o1 4 AAR P ce(l Avul 800
ala dl 3edl M2 Wauyulell vl 200 §21?

.2 AQe B) 3 A2
©) 1 A2 (D) S8 Ul [@Ascu o1l
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54.

5S.

56.

57.

58.

59.

60.

A sum of money doubles itself in 8 years. It will become eight times in

(A) 32 Years (B) 16 Years

({©)24 Years (D) 12 Years

A sum was put at a certain rate simple interest for 3 years. Had it be put at 2% higher
rate, it would fetch I 60/- more. The sum invested is -

(A) 2 6000/- (B) X 3000/-

(C) % 9000/- (D) X 12000/-

80 kg of fresh fruit is required to prepare 32 kg of jam. How much fresh fruit is required

to prepare 80 kg of jam?
(A) 160 kg (B) 100 kg
(©)200 kg (D) 120 kg

Find how much more time will it take to travel a distance of 500 km if instead of 80 km/hr

a car travels with a speed of 60 km/hr.
(A) 2 hrs (B) 2 hrs 10 min

(C) 2 hrs 15 min .2 hrs 5 min

Which of the following numbers is prime?

(A) 209 (B) 403

(C) 901 (D))ss7

Arun and Ajay have 25% and 35% amount more than Sajay respectively. What is the
ratio of the amounts with Arun and Ajay?

(A)7:9 B)5:7

©)25:27 (D) 27 : 29

The numbers of bacteria in a sample double every minute. If there are 800 bacteria in

4 minutes, then in how much time will there be 200 bacteria?

@&)2 min (B) 3 min
(C) 1 min (D) None of these
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61.

62.

63.

64.

65.

66.

67.

ol viso(l As AvaAl Ao L islell uect sl HOAl ol Aual ARl dslad 45 B, 3l
(sloll collell UclLoN QWL

(A) 25 .53

(C) 41 (D) 45

As Qagoll dotteS 5011, uslous 20dl ua Gt 104l B. 2w 8loyoll Elatet A cldiauell
AW UR AlEl wscllell 8. %l AlEl wscaloll W2l 225 ul ARuHleR dla Al gcd el wi
alA?

(A) % 50000 (B) % 85000

.i 60000 (D) 35000

o(lA A AvARAHIY 58 vl cdudddl «ell?
(A) 64 (B) 729

.1225 (D) 4096

s{lHlet XA }WE A5 Yaclsell GUIRHL L B cdiéet 5. %1 A Yaelsell 66 Ulell clidcllell
oltsl €L ol Sl dl A YrelsMl $& Fedl Well §?

(A) 96 .72

(C) 64 (D) 120

AucRl ojuclire] ARRAA cdluMlel 38.7°C Aol dfclRYl Al cliRe] AR dluHlet 39°C B.
UHL ALclge] RN dluMlel ot sell yals Avau 4.

(A) 38.9°C .39°c

(C) 38°C (D) 40°C

1ell 70 Yellol Avauuiell S As Avaul AERDs A UAE scMl A Al A Avatell Ayel
aol duey Ayl det slaell deucasut decl §3?

.1/35 (B) 4/35

(C) 2/135 (D) 1/7

40 AWAM Axs0 HRlcdl 32cl AARYU slellcl asta, %l Aol £35 olly Ut Yulis &la?

(A) 4 .8

(C) 6 (D) 20
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61.

62.

63.

64.

6S.

66.

67.

The difference between two digits number and the number obtained by interchanging the

digit is 45. What is the sum of the square of these digits?

(A) 25 ®)s3

O 41 (D) 45

A pool is 50 m long, 20 m wide and 10 m deep. Find the cost of fixing tiles on the walls and
floor of the pool at the rate of X 25 per square meter.

(A) 50000 (B) ¥ 85000

({©)x 60000 (D) % 35000

Find the odd one out:
(A) 64 (B) 729
©)1225 (D) 4096

Mr. X has read 1/12™ part of a book today. If 66 pages are left unread, find the total

number of pages in the book.

(A) 96 ®) 72

(©) 64 D) 120

The average temperature from Monday to Wednesday is 38.7°C and that of for Thursday
to Saturday is 39°C. Find the overall average temperature in the nearest integer.

(A) 38.9°C ®)39°C

(©) 38°C (D) 40°C

If a number is chosen at random from 1 to 70, what is the probability that it will be
both the perfect square as well as perfect cube?

@&)1/35 (B) 4/35
(C) 2/35 (D) 1/7

How many distinct rectangles with an area of 40 cm” can be drawn, given that the sides

are positive integer in cm?

(A) 4 (B) 8

©)6 (D) 20
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68.

69.

70.

71.

72.

73.

74.

S5 A 28 Ul A 8% oll AEL Uy €2 ¥ecll a¥ oHill a?

(A) 10 ay (B) 12 ax
.12.5 ay (D) AYcll 1l
40,000 ofl 251 12% Usq[& <l €2 32l a¥ T 50176 UlA?
.2 ay (B) 2.5 ¥

(€) 3 ax (D) 1.75 aX

X Aal Y ¢l WA AL URA 8. % X doll WAl WMLl 951 ewdtell WA Y A,
Al olal WA Ul WA A, %1 Y Aol WAl WeReHidl 98 etdle(l AR Xal 2 Al
X WA et 60 WA . ol WA Holla et el AR 82

(A) 60 (B) 84

.90 (D) 72

Y youar Hidl S ugl As YouaR AEDs A Ude sl WA dl d HOUeR R
dlelloll detctoll 32cll a2

(A) 3/26 (B) 2/13
.5/26 (D) 7/26

Rl «RMl AARAL lal 12 T 4200 WA scllell B, %l AcRell 0 Hlal Hi WA A 14
sl %8 AF ol Al Aol W Hi A Al 12 AR ¥ A3, AR Bl Aixell 2 ol
RlEeol (BHanl 32 dslad & ?

.? 50 (B) T 75
(C)X 60 (D) T 100

%l CAREER 2l6€0ll €35 w&Rell GUAL scllMl AL, dl 32cl 2AcEl (weyal slat 33l «tell)

ololl 9¥? -

(A) 210 (B) 720

(C) 120 (D) 840

AR A Ul B, B Al Cual C &Yl Dol U2 BofsA 3, 6 ol 5 el B. AR A Ul D el U2
$2Cl Rl Gudou B2

(A) 30 .90

(C) 60 (D) 40
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68.

69.

70.

71.

72.

73.

74.

In how many years a sum would double itself at the rate of 8% simple interest per annum?
(A) 10 Years (B) 12 Years
.12.5 Years (D) Data is insufficient

In how many years would a sum of X 40,000 yield an amount of X 50176 compounded
annually at the rate of 12% per annum?

.2 Years (B) 2.5 Years
(C) 3 Years (D) 1.75 Years

X and Y have some pencils. If X gives one-sixth of his pencils to Y, they would have
an equal number. If Y gives one-sixth of his pencils to X, then X would have a total of
60 pencils. How many total pencils do they have?

(A) 60 (B) 84
©)90 (D) 72

A letter is randomly selected from the English alphabet. What is the probability that it is
a vowel?

(A) 3/26 (B) 2/13
©)5/26 (D) 726

% 4200/- are to be utilized for watching a movie in a theatre. If morning show is referred,
14 people can watch and in case of evening show, 12 people can watch. Find the difference
of ticket rates in the morning and evening shows.

@)r 50/- (B) % 75/-
(C) % 60/- (D) % 100/-

How many different words (not necessarily meaningful) can be formed using all the letters

of CAREER once? -

(A) 210 (B) 720
(C) 120 (D) 840

There are 3 routes, 6 routes and 5 routes connecting cities A to B, B to C and C to D
respectively. How many routes are available from city A to city D?

(A) 30 ®)90
(©) 60 (D) 40
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75.

76.

77.

78.

79.

80

Rcttell G Yotoll sletell GHR scll e RN B AM Hicllell GHR Yotoll slctell GHR $2cll

olct ARl B. %] 2AQatell GHR oll Yo 60 cN Sl Al Ulct N olle Yaloll GHR 3ecll 822
(A) 13 <y @) 10 axl

(€) 12 ay (D) 9 ol

As Ulelul 2 9@l Aol 3 QL tRlcldl Yslloll Avauloll 9JRlt? 3:7 8. 9l e 90 usl &l Al
uflau gt dect dull &2 2 (Cancelied)

(A) 120 (B) 125
(C) 135 (D) 100
AR islo{l Alell W ol vl 58 B2

(A) 9799 (B) 9999
(C) 9901 .9801
olA wA vl WSl Al usdl Avau e,

(A) 4804 (B) 12312

.12606 (D) 4616

20 Aclclselloll Heals 60 B. ol As Wcclsel 50 A HEQ 10 AUAG B, dl W@ {l-ll A

Heaus 2l
.62 (B) 64
(C) 63 (D) Yyl Wl

35 A ol 7 (3.4l W ol 4.
.1:20000 (B) 1:2000

(C) 1:200 (D) 500:1
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75.

76.

77.

78.

79.

80.

The present age of father is 10 times and mother is 9 times that of their son. If the sum of

the ages of all the three of them is 60 years, what would be the son’s age after 7 years?
(A) 13 years .10 years

(C) 12 years (D) 9 years

In an examination, the number of questions carrying 2 and 3 marks are in the ratio of 3:7.
If there are 90 questions in all, find the maximum marks. -

(A) 120 (B) 125

(©) 135 (D) 100

What is the largest perfect square number of 4 digits?
(A) 9799 (B) 9999

(C) 9901 (©)9801

Find the odd one out
(A) 4804 (B) 12312
(©) 12606 (D) 4616

The mean of 20 observations is 60. By mistake, one of them is taken as 10 instead of 50.

Find the correct mean of the data.

@&)62 (B) 64

(C) 63 (D) Data is insufficient

What is the ratio of 35 cm to 7 km?
@&))1:20000 (B) 1:2000

(C) 1:200 (D) 500:1
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81. Quiol-3(@ vl et (dell gRA o(lAsil [Quiell toual A
1. WIRL gl wWlaa ol 8.
2. HRL del vlleuss ol B.
GuR Usl s/sal (Quuet/Quusll ujuul B2
(A) 85 1
(B) $5cl 2
(C) 1 Aal 2 ol

(@) cistuiell As gL iz

82. Qulol-3(3 val et leell ERA (Aol Quuall U AL
1. s6ll2Ml Ycls AL s Yl ol
2. { A atel ¥ s2ua aial ol
Gur Ul sej/sal (Quutev(Qatsll A/l 8?2
(A) 85c 1
(B) $5cl 2
(C) 1 ¥l 2 clal

.Oiamaﬂ As Ul <l

83. Quiol-3(@ vlal el ldell gfRA WAl [Quietall [@seu ue 3.
.O{sél A ALl el
(B) MLEL MRS MO % Blelll,
(C) Us3a Al Alcl.

(D) w53 A Ay Wl
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84. Aslloll gRA o(lAsil [Quicll tua A
1. WAL €ls3 A ol oua 8.
2. Wgd slnga o0l ol 8.
3. U3 Moltal AlA ol B.
GuR Usl sal Quiell i 82
.ssd 1ua 2
(B) $5cl 2 Ual 3
(C) $5d 1 ¥al 3
(D) 1, 2 ol 3 Glul %

85. AsQlloll ¢RA ol Aot (QAuiell taual A
1. d wl cesluio oty gu Ul L.
2. Aot 3 scflcl Avll sl
3. sIA WA alRsl wclloll KA.
GuR Usl sal @Quiell wul 82
(A) 5 1 Ua 2
(B) $5cl 2 Ual 3
(C) $5cL 1 Ual 3
.1, 2 sl 3 wul % vllel B.

86. oflA el 3(B3YAN Aal Aotl Aol Assl taula A
1. %] o1% 53¢ = clc dulila sdcll
2. o0Aell WA olsld = {ldRaU ellol 529
3. 81§ Alug = (Betoll ald onuian 2l
GUR Ul s/sell 1s§/ Sssl A/ wAUl B2
(A) $5c 1 Aa 2
(B) $5cl 2 Ua 3
.SSd 1 a3
(D) QML As U B
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87. UMRS 2AcE U Aol sl (AN oA U4l s2/sal Ws§ralsst W/ WAl B2

AHIRS 2oe YslR

1. Qgctat CETRERITEY

2. Y™ldu sHURA AHRA
3. elsaaat Ay UM
4. YAYS gg UHIU

{12 U4l o @seu ue s3A.
(A) $5cl 2 ALY

(B) 2 Aol 3 ALAUL

©)1, 2, 3, U 4 WAl

(D) AsuRL ALY o1l

88. AMlelll 2AcEL MR Hlssiell Ao [Ascu urie 53,
w o
1. °R 5. dotall
2. adla u. ofl&
3. €ls3l oL, wAA
4. 1l o, UHR
.1-3l, 2-4, 3-5, 4-W
(B) 1-8L, 2-W, 3-5, 4-3
(C) 1-W, 2-4, 3-8, 4-3l

(D) 1-3, 2-8, 3-¢l, 4-W

89. o{lA Al @scluigll otul % Aot 2wcel a Adl @seu uie s,
.uw, @Qsita, [@etagll
(B) Moll, lclsll, slMoll
(C) AslAls, AL, Aid

(D) %3, ol®, 3
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90. o(lQ el [Qzgtel 2cel QA WA @scu uie s3.
()0 x Yot
(B) ALUR x US%
(€) &l x vuell

(D) 3R x Uldxls

91. You cannot doubt honesty of these children.

(A)a

(D) No article

92. He gave a lecture the causes of tuberculosis.
(&) on
(B) for
(C) of
(D) in
93. The police will register it as an accident any evidence to the contrary
is found.
(A) otherwise
.unless
(C) whenever

(D) still
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94. He is still reading,

(A) wasn’t he?
(B) weren’t he?

.isn’t he?

(D) hadn’t he?

95. The Olympic Games every four years.
(A) has taken place
(B) is taking place

.take place

(D) will taking place

96. _ you like to have a cup of coffee?
(A) May
(B) Can
(C) Could

®)Would

97. We haven’t got petrol. We need to stop and get some.

(C) little
(D) a little

98. Who is creating this pollution? (Change the voice)
(A) By whom this pollution is created?
(B) By whom has this pollution created?
.By whom is this pollution being created?

(D) By whom this pollution have been created?
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99. You are even me in treating people the right way.
(A) more worse than
(B) more worst then

(C) the worse than

.worse than

100. It is difficult to get after meals in area.

(A) desert, desert

(B) dessert, dessert
.dessert, desert

(D) desert, dessert
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